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RRLKI:
Class N\g‘aup,ug
dequecint> que.
pop Lint, vebhe) §
of (lque.empty ()88 vale == que-front )
Que . pop_front ()
§
push (ant value) §
while. (!que-enmpli()shvalue> que-bak0)
Gue. pop—_bacR ();
quetpwl’l__bmktualue)
3
M_Max..vdu&() 1
return qvetfmnﬂ);‘

J
vectorant> maxSlidingWindow (vector<int> ¥ nms ,intk) §

Myquee. que ;

Vector<int> osult ;

{or Gint 120 juckivtt ) §
quekpash (nwmLil);

$

resutt. push_back (que. front0);

for Cint 1=K 5 i< nums. $280); i+t ) §
quepop LnumsLi~K1);

G \push CrwnLi] )
t"&su.l{,‘Push C clue.frwrt 0),;

j

retm  regult, ;



